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SN 23T

B HNSH0E CAHL(SHATB/23012)

Chel: 23ttl=dAL 2 His=HH X2 (etel: =3
SN EB -GS - MBAY - BES 0] &F o e HlE2
AL S 2 370,748 96,205 274,543

101 21 24| 11,828 17,285 N5, 457
04 JIZHNIZ22XRHSE+ 11,828 17,285 N5,457
OFEGAIZ Zel (1Y) 11,828,000& 11,828
201 L2 78,920 78,920 0
01 AR 2teld| 24,920 24,920 0
OgBt==2H| 20,960
SMEN=E R HER 8,000,000& 8,000
o JIEt=EH] 12,960,000& 12,960
OUSHAMFE L= 3,960,000& 3,960
02 32244 54,000 54,000 0
O332=LHA 40,000,000 40,000
(©Fs=.] 7,000,000& 7,000
(OFNR=F3:IE=N]=] 7,000,000& 7,000
207 & IHE 20,000 0 20,000
01 A&l 20,000 0 20,000
OUEA SHE(SH) EIEE 82|
20,000,000& 20,000
401 Al EHIZ 2O Y| 260,000 0 260,000
01 A& HI 260,000 0 260,000
OF A= X204 =4 250,000,000& 250,000
Os9MN &s2=2 ¢ 2HEEXl 10,000,000 10,000
Zot0 =&AL X2 917,000 507,000 410,000
301 et at= 2,000 2,000 0
10 HAIAHIEA S 2,000 2,000 0
O=9 - =M EOHA AHlI24 2,000,000& 2,000
306 = 300,000 0 300,000
01 &9z 300,000 0 300,000
O3 &= 300,000,000& 300,000
307 212+01 A 597,000 487,000 110,000
02 gzt atEx 244,500 139,500 105,000
OOtF2&Al ¢2t3dl X& 2,500,000& 2,500
OAd =28 gz2tddl K& 2,500,000& 2,500
O2&l Mot RclDF A BHIXH
3,000,000& 3,000
O&= ddeldl a3 H=lZ8l XN
4,000,000& 4,000
©2011 AFEHICH S M ZHIXI&  3,000,000& 3,000
A Al HEH X2 1,500,000& 1,500
OF A2 TW&Al2 28l XI& 2,000,000 2,000
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SH: 23TBY
Za: HTSH0E TAHE(SHLDL/230Z)
SHol: 2SS HA 2 HIZEH X CERL

_ _ _ Muo

SA BB SR(E) - NRAY - B O] 4+ o8 il ot o HREZ
OXMI3a AtdMl=H ZHl X& 20,000,000 20,000
o=t Y AAXS X2 5,000,000& 5,000
OHE SatM &AHHl XI& 2,000,000& 2,000
OHSAR =AY S5 bl K&
5,000,000& 5,000
OMNEHdE &t =28 FHIAE 10,000,000 10,000
OFAI - BOIBE SAUSEH L HO TAl -

=9 & 20,000,000 20,000

OMEA 4T 2FOLA0IZH HE Zb X

6,000,000& 6,000
02012 FLLEM FIHZH N

3,000,002 3,000
OM153) STH&ASSH % HRAIQHS

20,000,000 20,000
OMI7El ZHU=HESH EIt N

15,000,000 15,000
OB SAH(HESEH) BSAY

10,000,000& 10,000
OEEHX HE FHIAIE 20,000,000 20,000
oy =sta NE 40,000,000 40,000

e 2ddl X2 20,000,000 20,000

©20120{ 2= M2l KIXHHE EIHXR

10,000,000 10,000
O=01E 50071 IS At 20,000,000 20,000

03 AFBIEHHI 2 £ 2 102,500 97,500 5,000

ontE 2ot BEE FIIZANE

4,000,000 4,000
OmA2DELES 2ES K 2,000,000 2,000
OBx2l He3 YHBXE 2,000,008 2,000
OMAEEZSE 294l XI& 22,000,000& 22,000
ODIEEE AFEANR BA+E DIEH e

4,000,002 4,000
OAMdMsE 28l X&H 5,000,000& 5,000
ODIFSstsl M= 230l AHSY BAXE

2,000,002 2,000
ONTHE AFEANS LN IS

5,000,000& 5,000
OBZUBAFRAIXE 22| X

24,000,000 24,000
OBZUBARANTE "MEAY B SO’

A& 8,000,000& 8,000
Osr=AMUEal AFEAIXIZ X 2,000,000 2,000
OBRWSHANY ST MBAIXE LE

5 X 3,000,002 3,000
O"Tt=M" ZJl=3 X 3,000,000& 3,000
O4clsel SAtE 2939 X& 2,500,000 2,500




A Sot2t2
B ME2S0E CANL(SIUBR/25002)
Chel: 23ttl=dAL 2 His=HH X2 (el &)
_ _ _ Muo
SN HB - S(BH) - NRAY - BAS O & o4 e SImE=ET
OUe I3l AIEAIXNSE EHIIRHM X&
10,000,000& 10,000
Ost==20Ist83al AIEAIXNRE XI&
2,000,000& 2,000
Ogt==28z2l MEAMITE 2ste0tE X&
2,000,000& 2,000
04 BIZtHALE = 250,000 250,000 0
OHM17al 2AE=stM BHl XI& 250,000,000 250,000
308 XXM SO0IA 18,000 18,000 0
06 WEIIZ0USEES 18,000 18,000 0
odE=2s =4 st X# 18,000,000& 18,000
SHEM A& 32,000 32,000 0
201 et A | 2,000 2,000 0
03 HAI2ZHI 2,000 2,000 0
O=stH=adMN S22 MH 2,000,000& 2,000
307 2I2tol ™ 30,000 30,000 0
04 BIZtHALE = 30,000 30,000 0
ORMB82l ==zt B2 HHIXH
30,000,000& 30,000
ol mtasiA 10,000 38,000 228,000
= 5,000
Al 5,000
307 21Ztol 10,000 38,000 228,000
= 5,000
Al 5,000
0B ARIHHMELS 10,000 10,000 0
OSEAMNZE ZAF XA 7,000,000& 7,000
= 3,500
Al 3,500
OMAEZ2EA 23t A X 3,000, 000& 3,000
& 1,500
Al 1,500
SSASE XA 77,000 82,240 N5,240
= 33,688
Al 43,312
307 2IZtol 77,000 82,240 A5,240
= 33,688
Al 43,312
02 It F A2 X 20,000 5,240 14,760
Oo=stety 29XA 20,000,000& 20,000
03 At SHHE=S 57,000 77,000 220,000
OXNL2AANY &=l 57,000,000& 57,000
= 33,688
Al 23,312
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A Sot2t2
MU HNSHE TAAL(SHUBB /250 2)
Chel: 23ttl=dAL 2 His=HH X2 (etel: =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
2g2 FAd4d =g 100,000 100,000 0
< 50,000
Al 50,000
307 2IZtol ™ 100,000 100,000 0
& 50,000
Al 50,000
02 g2t atex 100,000 100,000 0
O &M HA XA 100,000, 000& 100,000
= 50,000
Al 50,000
ROt =2=teEs A 43,650 33,650 10,000
< 24,000
Al 19,650
301 etE a3 3,650 3,650 0
10 HAIAHIE &3 3,650 3,650 0
ORUSHAZ XNIAAMY AR AUHIEY
1,200,000& 1,200
OXOII= Hi=2s AAIRIE AHIEH
1,250,000& 1,250
OXO0IlE =3HES MY A2
1,200,000& 1,200
307 2I2toI & 40,000 30,000 10,000
= 24,000
Al 16,000
02 It H A2 X 40,000 30,000 10,000
oot 2atgs NE 10,000, 000& 10,000
< 6,000
Al 4,000
OR=l=tHd =324 X 30,000, 000& 30,000
< 18,000
Al 12,000
FUHSSEHASHE X2 31,000 31,000 0
Il 15,500
= 7,750
Al 7,750
307 212+01 A 31,000 31,000 0
Il 15,500
= 7,750
Al 7,750
02 QItF A2 X 31,000 31,000 0
ORUSHAZ MA X4 31,000,000 31,000
Il 15,500
& 7,750
Al 7,750
S=Z3l=X& 5,000 5,000 0
= 5,000




SN 22D
HH: MESS0E CAAS (2B /2502)
ol SHUZHA L GIZCHH AR (el &2
_ _ _ Muo
DA - CR(SH) - MPAY - BYS Ao Sl ko HRE2
307 2I12H0| 5,000 5,000 0
= 5,000
04 DIZHS AR E 5,000 5,000 0
OAl - = Z3t0=> At Ozl 3Hl 5,000,000 5,000
= 5,000
SN 23t A2 AR St 500,000 300,000 200,000
= 150,000
Al 350,000
307 2I12H0| 500,000 300,000 200,000
= 150,000
Al 350,000
04 BIZHHALE X 500,000 300,000 200,000
OAE MAH EtSF =X 500,000, 000& 500,000
= 150,000
Al 350,000
M Z3tl=nsE 43 XA 20,000 20,000 0
= 10,000
& 5,000
Al 5,000
307 21Ztol ™ 20,000 20,000 0
= 10,000
= 5,000
Al 5,000
02 QItF A2 X 20,000 20,000 0
ONZI2EHMEDS NAH BHAL
20,000,000& 20,000
= 10,000
& 5,000
Al 5,000
StAIEE X (&) 350,000 100,000 250,000
e 250,000
Al 100,000
401 AIEHIZ 2O Y| 350,000 100,000 250,000
= 250,000
Al 100,000
01 Al Hl 349,100 100,000 249,100
OLTHA 2T LA AY (KGN LA]
250,000,000& 250,000
= 150,000
Al 100,000
OFE MHE S4B B4 [N AHLAL]
99, 100,0002 99, 100
= 99, 100
03 A& 20| 900 0 900
OFE MHEL SAFT 22 [XGNLA]
900, 000& 900
& 900




SN 2B

HE: MRS AN (SHABY/2501)

Chel: 23ttl=dAL 2 His=HH X2 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
NS Z2ot0=I & X& 22,000 0 22,000

= 20,000
Al 2,000
307 2IZtol ™ 22,000 0 22,000
< 20,000
Al 2,000
02 QItF A8 X 22,000 0 22,000
o=R&0HE zatgs XA 22,000,000& 22,000
= 20,000
Al 2,000
ME2E 2220 A= 100,000 0 100,000
L= 50,000
Al 50,000
401 Al Bl 2 CHYI 100,000 0 100,000
= 50,000
Al 50,000
01 A& HI 100,000 0 100,000
OMESEY YD MS[XAHLAL]
100,000,000 100,000
= 50,000
Al 50,000
MEXSALE 6004 MEE= 50,000 0 50,000
201 gEt2Ed| 50,000 0 50,000
01 AtR2tel 20,000 0 20,000
oL+l 20,000,000& 20,000
02 23244l 10,000 0 10,000
O332=LHA 10,000, 000& 10,000
03 S At2E | 20,000 0 20,000
OJIE AN HAI2EHI 20,000,000& 20,000
Fatll=z2 29 761,300 542,500 218,800
Fo0l=g 2 2el 511,300 292,500 218,800
201 Et2dd| 133,600 134,200 A 600
01 AtR2tel 23,100 23,100 0
ogel=gHl 11,600,000& 11,600
O=&l 6,000,000& 6,000
ogdx= 5,500,000& 5,500
02 2244 91,500 92,100 A 600
O=Z223LAA 54,000
ocMI 2022 HEsll 4,000,000& 4,000
o=z BBR3 50,000,000& 50,000
od =4l 17,500,000& 17,500
OAN&EZHIS X 20,000,000& 20,000




25220
HT25H0E TAHE (2L 2Z/250 =)
230 =32 2 (St &=
- o MU
2MH - 2 . H2(ZH) - MEAY - BES A oH @;OH Hl =2
03 S AF2 ] 19,000 19,000 0
OZXH aez 5,000,000 5,000
OJ22¢ 82 M 14,000,000 14,000
202 O4H| 2,400 3,000 AB00
01 U104yl 2,400 3,000 2600
OJ|22¢ &2 L HIALES HAS
2,400,000 2,400
206 XH 2] 300 300 0
01 XH 24| 300 300 0
OXZL LA L H2 2L 300,000 300
401 Al H 2L 20| 65,000 125,000 260,000
01 Al&H] 65,000 124,460 59,460
AaE MRS 43X 15,000, 000 15,000
032 =5 AIZE FHIZ2A 10,000, 000 10,000
OUZ=HE 2OHHIE B2 A 20,000,000 20,000
OUZBAE A2 =24 YT AL 20,000,000 20,000
405 XFAHE SHI 310,000 30,000 280,000
01 AHAY 2 EF SH| 310,000 30,000 280,000
ORH0I0I13 FY (I HEA)
150,000,000 150,000
ORUSE ZULIEHATIIN AAE RS
160,000,000 160,000
oG 35 DA 250,000 250,000 0
301 Yt A2 250,000 250,000 0
10 HALAH B A2 250,000 250,000 0
OJI22¢ ZHIAHC AlH 24 250,000
o2 XA 36,000,000 36,000
o29%3% - 2ME 135,000,000 135,000
o= 44,000,000 44,000
olts/HAHES 20,000, 000 20,000
o=o/2= 15,000, 000 15,000
S BE L MS(2LAZ/23M) 1,911,029 2,061,518 A 150,489
= 436,564
[= 787,418
7 Al 687,047
234 EE 1,911,029 2,061,518 A 150,489
= 436,564
[= 787,418
Al 687,047
SRS &= X 32,400 28,800 3,600
[= 16,200
Al 16,200




SN
X XH .
S Tt

oLk

0

I3
B

H0 MO MO

for for o

10 = i
T

T T
o
[Pl
o
o
Loﬂ
He
i
08
*
Ho
L?ﬂ
=

=
i,
[
40
Bl
o

i
x
N
.

.S (2AH) - MBAY - BES O

22
J2
=2
Rl
12
==
S
Ol
0

307 212+01 A 32,400 28,800 3,600

16,200
16,200

=z H

a5 x 32,400 28,800 3,600
3 ds =l 32,400

= (1OHEHRI) 7,200,000& 7,200
3,600
3,600
oJltls ERAH2E) 19,200, 000& 19,200
9,600
9,600
oXM8m 2YH|(3w) 6,000,000& 6,000
3,000
3,000

= H

=z H

=

SE23M SIHE A X2 2,200 2,200 0
2,200

0

H

307 212+01 A 2,200 2,200 0
2,200

H

02 Ql2tH &2 & 2,200 2,200 0
ORH =3t SIHAAE XI& 2,200,000& 2,200
2,200

in

SHXNEZ3H M EFAMEY 604,000 1,004,000 400,000
422,800
63,420
117,780

= N W

401 Al EHIZ 2O YI 604,000 1,004,000 400,000
422,800
63,420
117,780

= HnH

01 Al Hl 600,220 1,004,000 A403,780
OsSE®"EX EXOMNS 596,220,000& 596,220
417,354
62,603
116,263
O&Uel HIMUS S22 4,000,000& 4,000
2,800
420
780
03 Al€ 2CHH] 3,780 0 3,780
OsE®/EX EXOMS 3,780,000& 3,780
2,646
397
737

= HnH

= N W

= M W

In
-
0z
HO
o
=
i
1
04
=5

1,027,421 870,000 157,421

683,010
344,411

=




PN 23221
HH: 23 BEE L MS(2stL22/25HM)
&2l ZatRe BEE (&9 HM
- _ _ pINE N
A -3 -H2A(SH) - HEAMY - BES O AFH @/ZFB_I\E Hos
401 AlEHIZL 2] 1,027,421 870,000 157,421
[ 683,010
Al 344,411
01 Al&HI 1,021,591 870,000 151,591
OMNESHE =20 HE L=XAM
347,480,000 347,480
[ 234,549
Al 112,931
Oo=2au Z3= M2+ 142,915,0002 142,915
< 96,469
Al 46,446
OMHEED B4 & HF 313,696,000& 313,696
[ 211,744
Al 101,952
OZ3UWAL &2 HHME = 40,500,000& 40,500
< 27,338
Al 13,162
OFANY =M HHME= 57,000,000& 57,000
< 38,475
Al 18,525
o= A5 4 60,000,000 60,000
== 40,500
Al 19,500
OZstM= S&4HH J|IEet &y
60,000, 000& 60,000
< 30,000
Al 30,000
03 A€ 2 0Hd| 5,830 0 5,830
OANESHE S0 HE L=2=AF 2,520,000 2,520
[ 1,701
Al 819
O2Yew Z3ZT HHES 1,036,000 1,036
[ 699
Al 337
OMNHEEL B4 & HH 2,274,000& 2,274
= 1,535
Al 739
oM SEEMA 2= 22,940 20,876 2,064
= 13,764
< 4,588
Al 4,588
101 @124l 17,160 18,180 A 1,020
= 10,296
< 3,432
Al 3,432
04 DIt N2 2 RS+ 17,160 18,180 A 1,020
OZ3M Eg2tel 17,160,000 17,160
= 10,296




2A: S22
H: 250 B2 Y S (S 2Z/23M)
CHe: 23R4 B (&9 HM
_ ) _ pofEN
2N -3 - c2(3H) - NEME - HES Ol &F2H bﬂ/‘\_“’” Hns
= 3,432
Al 3,432
201 82| 5,000 0 5,000
= 3,000
= 1,000
Al 1,000
01 AtR22tel bl 3,000 0 3,000
OZ3 M sg2el 3,000,000& 3,000
= 1,800
= 600
Al 600
02 3329l 2,000 0 2,000
OZ3M sg2el 2,000,000& 2,000
= 1,200
= 400
Al 400
206 M Z 4| 780 2,696 A1,916
= 468
= 156
Al 156
01 &l 780 2,696 A1,916
OZ3 M sg2el 780,000& 780
= 468
= 156
Al 156
NSNS NS B 36,000 0 36,000
= 18,000
Al 18,000
307 2120 & 36,000 0 36,000
< 18,000
Al 18,000
02 DIZHFAE X 36,000 0 36,000
ogtn dS23 HsAMH 20,000,000& 20,000
= 10,000
Al 10,000
O&sgaud 29 16,000,000& 16,000
= 8,000
Al 8,000
23 2 Y Fb| 43,128 36,442 6,686
101 2124 d| 2,880 2,794 86
4 II2tHZ2E2XNsE 2,880 2,79 86
O3 MASAU SHIOIEY 12
1,080,000& 1,080
OxYZE ¢ J|ga &2 o2
1,800,000& 1,800
201 82| 16,648 16,648 0

_11_




2A: S22
H: 250 B2 Y S (S 2Z/23M)
CHe: 23R4 B CEREED
_ ) _ pofEN
2N -3 - c2(3H) - NEME - HES 0] AFCH bﬂ/‘\_“’” Hns
01 At22t2ldl 8,100 8,100 0
(@)=l Ear=u]l 8,100,000& 8,100
02 2229l 8,548 8,548 0
OZ2Z222YHA 8,548,000 8,548
202 0id| 3,200 4,000 A 800
01 2L HI 3,200 4,000 A 800
O&A=H0H I 3,200,000& 3,200
206 M Z 4| 400 400 0
01 MEHl 400 400 0
OY=SUM &4H L otdER 2
400,000& 400
401 A& HI L 20| 20,000 10,000 10,000
01 Al &I 20,000 10,000 10,000
O=3 M & F=HAL FH| 20,000
oFEZY FIM EXET AX
5,000,000& 5,000
ols 23MOHLHE WA 5,000,000& 5,000
o222 M B 10,000, 000& 10,000
23R = 20,000 10,000 10,000
401 A& HIZL L HH] 20,000 10,000 10,000
01 Al &I 20,000 10,000 10,000
O3 HYXZA 20,000,000& 20,000
PEISMN & L 22| 122,940 89,200 33,740
301 LEEAZ 28,800 28,800 0
12 J|EIE2 A2 28,800 28,800 0
O2IINELRE2 M M4sty X
28,800,000& 28,800
307 Q1201 & 69, 140 60,400 8,740
02 QI2HFAE X 69, 140 60,400 8,740
Ogn =-FH A™UH Mdbl X
10,000, 000& 10,000
OFAAMNE =Ml X 1,500,000& 1,500
OZ WAL =Ml K& 1,500,000& 1,500
Ot dEH HMdbel XI& 1,500,000 1,500
OFF - 4T 12X=sY drus2t 294 X
& 15,800, 000& 15,800
ol d+nsa 294l A&
15,800, 000& 15,800
OZXHE RE2M d2 2HH| K&
15,800,000& 15,800
ONELRE2 MO, MF - AMEZs
ohegtmz oyl A& 2,000,000& 2,000

_12_
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SN 2B
HH: BPTA SH(SHUDE/BD)
S 2 et 2E (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
O X+t gt 1,800,000& 1,800
03 A2 HI 51,850 41,850 10,000
O2ZUSX HWENA ZHl 15,000,000& 15,000
OA& =M BERA &X 10,000, 000& 10,000
O2AET 2t& =gal &It 15,000, 000& 15,000
02=0 Rstd 2ot - 28 £ 7,000,000 7,000
OoflH=N A2 & FHIZX 4,850,000 4,850
202 44| 9,600 12,000 22,400
01 =2 WA b 9,600 12,000 A2,400
OZEH N 9,600, 000& 9,600
207 &1 O] 500,000 0 500,000
02 & &I 500,000 0 500,000
OZZEHOIX 5 E4X 500,000,000& 500,000
301 etE a3 104,000 64,700 39,300
10 HAIAHIE &3 4,000 4,700 AT00
O2ZOHHNAASA A AHIE4
4,000,000& 4,000
12 J|Et2 43 100,000 60,000 40,000
OHMZZARI KA QIMEIE
100,000, 000& 100,000
307 212tol 203,000 133,000 70,000
02 DIt F A2 X 71,000 51,000 20,000
ORg«dEs 222 HM& N&  20,000,000& 20,000
O"AtE - &I NHEXN"2S=2F EES M
& X3 10,000,000& 10,000
OHlSW BAHO E2= M K&
1,000,000& 1,000
ozZA 2X HEOH 30,000,000& 30,000
OAME2Z0IX 43t K& 10,000,000& 10,000
04 BIZtHALE = 112,000 82,000 30,000
O -ANZ &= 222 29 10,000,000& 10,000
OMEAZRESHIAXNZS A 30,000,000& 30,000
O SHHEZHM HA K& 72,000,000& 72,000
05 QIZtRE Z 20,000 0 20,000
OANEISEN HAZY 10,000, 000& 10,000
ONSF3E 2223 SSAHI
10,000, 000& 10,000
401 Al HIZ 2 CHYI 30,000 516,000 A486,000
01 A& HI 30,000 516,000 A 486,000
OENHE HE RFudX 30,000,000& 30,000
405 KtatE S| 1,000 4,000 23,000
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5,313
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< a]] 7,000 4,150 2,850
O=2st2Z ol A BN 7,000,000& 7,000
1,185
502
5,313
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301 et et = 76,000 44,043 31,957
12,335
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2N -3 - c2(3H) - NEME - HES Ol &F2H lOﬁ/l\_Fo” Hns
201 LE2HH| 6,621 0 6,621
J| 4,638
= 595
Al 1,388
01 At22tel bl 621 0 621
OB H AIY 29| 621,000 621
| 435
== 56
Al 130
03 HAI2SEHI 6,000 0 6,000
O EHISH AL (AIDIE) 6,000,000 6,000
J| 4,203
& 539
Al 1,258
301 LEBAZ 22,500 0 22,500
| 15,762
& 2,021
Al 4,717
01 AISIE2 & X052 22,500 0 22,500
OB At 22,500,000 22,500
D) 15,762
= 2,021
Al 4,717
2ot I| ofe 3,234,993 4,315,793 A 1,080,800
= 1,200,000
Al 2,034,993
HFAES 22l 104,993 105,793 A 800
101 2124 d| 13,593 13,593 0
04 D12t 22 XNHSE+ 13,593 13,593 0
OZZAE= 22l 13,593, 000& 13,593
201 ¢et2HH| 38,200 38,200 0
02 S=2gH| 38,200 38,200 0
O Al 2 &HIS Xl 38,200,000& 38,200
202 O 4l 3,200 4,000 A 800
01 2LHO HI 3,200 4,000 A 800
O&2=& 0| 3,200,000& 3,200
401 Al & HIZ 2 HH| 50,000 50,000 0
01 Al&H| 50,000 50,000 0
OA~TE HAANEE B L FHU|
50,000,000& 50,000
AITIHUSHE =XE &2H 300,000 2,540,000 A2,240,000
401 Al EHIZ 20 HI 300,000 2,540,000 N2,240,000
01 Al&H| 297,840 2,530,856 N2,233,016
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i BBCA SH(SLBB/BR)
SRl 2SR N (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
OMFHEUDZH FXE T 297,840,002 297,840
03 Al & S CHY| 2,160 9,144 ~6,984
OMHEDZY =T 2HF 2,160,002 2,160
AL PEAT HYHEE T (MLCHYLRBE 400,000 600,000 A200,000
4)
= 200,000
Al 200,000
401 Al EHIL 2O HI 400,000 600,000 200,000
= 200,000
Al 200,000
01 Al& 8] 397,300 597,840 A200,540
0FY LE4T BANEY =4
397,300, 000! 397,300
= 198,740
Al 198,560
03 Al & S CHY| 2,700 2,160 540
OFY LE4T YMEH =4 2,700,008 2,700
= 1,260
Al 1,440
AHEHDZY S4RHLX 2,200,000 1,000,000 1,200,000
= 1,000,000
Al 1,200,000
401 A2 HIL 2O HI 2,200,000 1,000,000 1,200,000
= 1,000,000
Al 1,200,000
01 Al&H] 2,192,080 993,700 1,198,380
OMFIYDTH +420 &3
2,192,080,0002! 2,192,080
= 996, 400
Al 1,195,680
03 Al & S CHY| 7,920 6,300 1,620
OMFHEUDBY +4L0H X 7,920,0002 7,920
= 3,600
Al 4,320
NHEHDDY SA2AH & 100,000 0 100,000
401 A2 HIL 2T 100,000 0 100,000
01 Al&H| 99, 100 0 99, 100
OMHIEHDBY Sot24l &X
99, 100,0002 99, 100
03 Al & S CHY| 900 0 900
OMHEHDZY SoH240f £X 900,002 900
SUHSTNE 2292 Al 30,000 0 30,000
401 A2 HIL 2O HI 30,000 0 30,000
01 Al& 8] 30,000 0 30,000
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Sf2b2
ZEA SH(S3tL22/2Y)
St O

M- BB Sl (B) - HIRAY - Ba S sk oy e 2
OSAMSHMHE cl22E AtY 30,000,000& 30,000
ga =XE Os9 FY| 100,000 0 100,000
401 A& Bl 2 CHYI 100,000 0 100,000
01 A& HI 99, 100 0 99, 100
ORgd =XE Os2 &4 99, 100, 000& 99, 100
03 A& R0 900 0 900
Osgd =XE Os% i 900,000& 900
gofiotaZdHERTH 200,000 300,000 A100,000
ot =4 200,000 0 200,000
401 A& HIS 2 CHYI 200,000 0 200,000
01 Al&H] 198,560 0 198,560
OMOIRBN EHHEY HAR
198,560, 000& 198,560
03 A& 20| 1,440 0 1,440
Oaot2t&X ZLHE HESA  1,440,000& 1,440
HY2AZHI (2322 ) (JIEH/DIE 199,106 157,720 41,386
A2 108, 146 77,320 30,826
234l 108, 146 77,320 30,826
101 21 24d| 108, 146 77,320 30,826
03 RIAHAZZNHE =+ 108, 146 77,320 30,826
o MAZs 2 Zel(1Y) 19,652
=Jl2g 36,0003 »1H «365 13,140
ocdHIHZ 36,0003 »1H #2512 14% 1,266
ol|gd 853,000& * 1 *400% 3,412
cHXRErE 42,2403 x1H 15 634
o UG A 100,000& x1H ~12& 1,200
oOdTz2 Zel(1y) 22,394
=Jl2g 42,4503 x1H +365 15,495
ocdHIMAZ 42,4503 » 1H *251H 9% 959
ol Y=g 987,910& * 1 »400% 3,952
SN I = 49,2003 x1H x16 788
o UG Al 100,000& x1H »12& 1,200
ORUEZTA(Y) 24,023
=Jl=g 44 2303 x1H +365 16, 144
ocdHIMAZ 44,2303 x1H 251 *14% 1,555
ol|2d 1,025, 1403 » 12 »400% 4,101
cHXRESxE 51,120& »1H+20 1,023
o Mg AH| 100,000 x1H « 122 1,200
Oo=2stoli=sl2 HArZel (1Y) 22,877
SP==1 42,4503 x1H +365 15,495
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HE: #H2SAY (22T D) (IEHIIE)
el ol 2| (S5 &)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O AF o8 il i~ o bRz
S E] 42, 45091 % 1225121+ 14% 1,492
ollgsy 987, 910212 %400% 3,952
cANRB4Y 49,2002 1+ 152 738
o UZAIY| 100,000 * 1%+ 122 1,200
OAERER 22I(1Y) 19,200
ollE3 36,0002 +12§ 3652 13,140
o2&IIAZ 36, 00021+ 12§ x25121 %9% 814
ollgsg 853, 0002 * 12 %400% 3,412
cARB4Y 42,2402 12152 634
oAU Z AL 100,000 * 1%+ 122 1,200
o= 2| 90,960 80,400 10,560
BRI 90,960 80,400 10,560
201 YEr2gy| 9,000 9,000 0
01 At 22| H] 9,000 9,000 0
RIS =YI] 7,000,002 7,000
CEEE] 2,000,000 2,000
202 04t 77,760 67,200 10,560
01 2LH0i b 77,760 67,200 10,560
CEIVEEI 240,000% +27% * 122 77,760
203 YR F Y| 4,200 4,200 0
M4 ENSYYREEH| 4,200 4,200 0
ORN2Y Y=Y 350,000% 122 4,200
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